=g N

SRETICEITARERSEICEET 5
EIEERERDFHERICDOLNT



| -
|+
1 R
Ve,

|

I
=

2001 R HER R

y
-

[
il |
. . !

-

(o]
==

. | M ocREE
J3K 13 I — R

| ﬂ>7°)brr\)b9°({5ﬁ3+)

HBUTILHRILE DR SR BEEEREZEHRIL TH R
PRGEERRE K = JHARREE /N > ERRM
PRGEERRE /I HRIER K > X244



RIRDERBERERDIER

ZFR (No)
£E |BARSIT|ABEIERE
[MPa] [kPa] [mm]
0.1 27 63.8
26 61.4
21 39.0
21 35.9
0.2 42 63.5
42 63.4
0.3 92 44.6
51 25.5
0.4 715 69.3
73 65.6
712 62.9
1 97.5
69 94.9
68 90.5
0.5 105 80.4
91 68.3
89 69.5
88 63.2
87 08.3
84 93.5
83 491
82 9.9
81 10.9
0.7 115 o1.4
114 471
113 9.0
110 1.0
0.9 160 66.4
158 69.6
155 63.4
153 56.0
150 96.3
149 48.5
148 49.3
147 449
146 23.6
146 1.2

Ny L (He)
®E |BREIEDET|MAGEERH
[MPa] [kPa] [mm]
0.2 90 95.0
70 62.6
68 60.9
65 53.8
42 .
42 =
04 120 95.0
105 59.8
95 45.9
0.6 140 67.7
0.8 175 68.8
0.9 195 =
180 m
170 =
150 =

[(£%]

ZRAMOMBEEROFER (RIERIEHKY)
X |BEERDET|RGEERE
[MPa] [kPa] [mm]
0.1 28 63.7

27 62.2
26 57.6)
21 39.4
0.2 42 60.6
42 59.5
0.3 55 64.3
54 54.7
0.4 70 67.2
69 62.7
68 411
65 15.3
62 B
60 B
0.5 105 83.3
83 60.2
82 62.6
81 45.5
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DEE0.2MPa, BE3R 73 [E42kPa

*HELTHEE
y =152.86x + 11.286
R2 = 0.9997
@£ [£0.1MPa. EEZ ) [E21kPa
*HELTHEE
A y =153.5x +5.35
R2 = 0.9999
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